
CHEMISTRY

BOOKS - BRILLIANT PUBLICATION

SOME BASIC CONCEPTS OF CHEMISTRY

Level I Homework

1. How many moles of lead (II) chloride will be formed from a

reaction between 6.5g of PbO and 3.2g of HCI? [At. wt. Pb = 207g]

A. 0.044

B. 0.333

C. 0.077

D. 0.029

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Wi98yioEi6R3


Answer:

Watch Video Solution

2. A silicon (at. wt. = 28) chip used in an integrated circuit of a

computer has a mass of 5.68 mg. How many silicon atoms are

present in this chip?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2.02 × 10− 4

12.2 × 1020

122 × 1020

1.22 × 1020

https://dl.doubtnut.com/l/_Wi98yioEi6R3
https://dl.doubtnut.com/l/_H2xf8rVt3i8s
https://dl.doubtnut.com/l/_L7lHYu6Yc24G


3. Haemoglobin contains 0.25% iron by weight. The molecular wt.

of haemoglobin is 89600. The no. of iron atoms per molecule is (At.

wt. of iron = 55.84)

A. 40

B. 25

C. 1

D. 4

Answer:

Watch Video Solution

4. In a compound C, H and N atoms are present in 9 : 1 : 3.5 by

weight. Mol wt. of compound is 108, its mol. formula is

A. C2H6N2

https://dl.doubtnut.com/l/_L7lHYu6Yc24G
https://dl.doubtnut.com/l/_FqWtap6O1oL9


B. 

C. 

D. 

Answer:

Watch Video Solution

C3H4N

C6H8N2

C9H12N3

5. Crystals of which pair are isomorphous ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ZnSO4, SnSO4

MgSO4, CaSO4

ZnSO4, MgSO4

PbSO4, NiSO4

https://dl.doubtnut.com/l/_FqWtap6O1oL9
https://dl.doubtnut.com/l/_MrhsXPsxVpS1


Watch Video Solution

6. The volume at STP of pure  necessary for the complete

combustion of 12 g of magnesium of atomic weight 24 is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

O2

22.4dm3

11.2dm3

5.6dm3

12dm3

7. An unknown element forms an oxide. What will be the equivalent

weight of the element if the oxygen content is 20% by weight?

https://dl.doubtnut.com/l/_MrhsXPsxVpS1
https://dl.doubtnut.com/l/_0wMYNNWxZzsr
https://dl.doubtnut.com/l/_rH6Ho6hnx5Rp


A. 8

B. 16

C. 24

D. 32

Answer:

Watch Video Solution

8. Which among the following statements is correct?

A. 1 mol of electron has  of charge

B. 1 mol of electron has  of charge

C. 1 mol of electron weighs 0.54 Kg

D. 1 mol of electron weighs 0.54 mg

1.6 × 10− 19C

16 × 10− 19C

https://dl.doubtnut.com/l/_rH6Ho6hnx5Rp
https://dl.doubtnut.com/l/_72awEGnt9cRu


Answer:

Watch Video Solution

9. The number of oxalic acid molecules in 100 mL of 0.02 N oxalic

acid is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

12.05 × 1023

12.05 × 1020

12.05 × 1021

6.023 × 1020

https://dl.doubtnut.com/l/_72awEGnt9cRu
https://dl.doubtnut.com/l/_nHtvDslw58H6


10. An aqueous solution of 6.3 g of oxalic acid dihydrate is made up

of 250 ml. The volume of 0.1 N NaOH required to completely

neutralize 10 mL of this solution is

A. 20 mL

B. 10 mL

C. 5 mL

D. 40 mL

Answer:

Watch Video Solution

11. The set of numerical coefficients that balances the equation

 is

A. 1, 1, 2, 2, 1

K2CrO4 + HCl → K2Cr2O7 + KCl + H2O

https://dl.doubtnut.com/l/_NC27nkHogOon
https://dl.doubtnut.com/l/_5pNjj9BzNNnJ


B. 2, 2, 1, 1, 1

C. 2, 1, 1, 2, 1

D. 2, 2, 1, 2, 1

Answer:

Watch Video Solution

12. To 100 ml  solution containing 6.66g , 100 ml of

0.5M  solution is added. The mass of 

precipitated would be ?

A. 4.2 g

B. 5.0 g

C. 6.2 g

D. 7.6 g

CaCl2 CaCl2

Na3PO4 Ca3(PO4)2

https://dl.doubtnut.com/l/_5pNjj9BzNNnJ
https://dl.doubtnut.com/l/_22tpJlqVsL2e


Answer:

Watch Video Solution

13. A 100% pure sample of a divalent metal carbonate weighing 2g

on complete thermal decomposition releases 448 mL of

carbondioxide at STP. The equivalent mass of the metal is:

A. 40

B. 20

C. 28

D. 12

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_22tpJlqVsL2e
https://dl.doubtnut.com/l/_5hv9SbOsnDZI
https://dl.doubtnut.com/l/_I2uvj9ONIs8z


14. A gaseous hydrocarbon gives upon combustion 0.72 g of water

and 3.08 g of . The empirical formula of the hydrocarbon is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CO2

C2H4

C3H4

C6H5

C7H8

15. 10 mL of 2(M) NaOH solution is added to 200 mL of 0.5 (M) of

NaOH solution. What is the final concentration of the resultant

solution?

A. 0.57 (M)

https://dl.doubtnut.com/l/_I2uvj9ONIs8z
https://dl.doubtnut.com/l/_Kz5jHX0Jv7rN


B. 5.7 (M)

C. 11.4 (M)

D. 1.14 (M)

Answer:

Watch Video Solution

16. A sample of  contains 1.4 moles of the substance. How

many atoms are there in the sample?

A. 4

B. 5.6

C. 

D. 

Answer:

PCl3

8.431 × 1023

3.372 × 1024

https://dl.doubtnut.com/l/_Kz5jHX0Jv7rN
https://dl.doubtnut.com/l/_XyCo3bXzOa9T


Watch Video Solution

17. The average molar mass of naturally occurring Argon.

Calculated using the following data is 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

39.2gmol− 1

39.948gmol− 1

38.948gmol− 1

37.948gmol− 1

https://dl.doubtnut.com/l/_XyCo3bXzOa9T
https://dl.doubtnut.com/l/_EdAsutFXKOV0
https://dl.doubtnut.com/l/_1iKtSk8QOdAs


18. In a reaction vessel 0.184 g of NaOH is required to be added for

completing the reaction. How many millilitres of 0.150 M NaOH

should be added for this requirement?

A. 30.7 mL

B. 60 mL

C. 15.6 mL

D. 90.2 mL

Answer:

Watch Video Solution

19. In an eperiment 2.4 g of iron oxide on reduction with hydrogen

gave 1.68 g of iron. In another experiment, 2.9g of iron oxide gave

2.09 g of iron on reduction. Which law is illustrated from the data?

https://dl.doubtnut.com/l/_1iKtSk8QOdAs
https://dl.doubtnut.com/l/_NBX5dgxLnU9X


A. Law of constant proportions

B. Law of multiple proportions

C. Law of reciprocal proportions

D. Law of conservation of mass

Answer:

Watch Video Solution

20. Chlorine gas is prepared by reaction of  with  and

NaCl. What volume of  will be produced at STP if 50 g of NaCl

react with excess amount of ?

A. 1.915 L

B. 22.4 L

C. 11.2 L

H2SO4 MnO2

Cl2

MnO2 and H2SO4

https://dl.doubtnut.com/l/_NBX5dgxLnU9X
https://dl.doubtnut.com/l/_yWxArbAR1UFA


D. 9.57 L

Answer:

Watch Video Solution

21. 1.12 mL of a gas is produced at STP by the action of 4.12 mg of

alcohol, ROH, with methylmagnesium iodide. The molecular mass of

alcohol is

A. 16 u

B. 41.2 u

C. 82.4 u

D. 156 u

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yWxArbAR1UFA
https://dl.doubtnut.com/l/_Gsm3on5P8ZWF


22. The molecular formula of the oxide of iron in which mass

percentage of iron is 69.9

A. FeO

B. 

C. 

D. 

Answer:

Watch Video Solution

Fe2O3

Fe3O3

Fe3O4

23. A mixture of ethane and ethene occupied 41 L at 1 atm and 500

K. The mixture reacts completely with  mol of  to produce 

. The number of moles of ethane in the mixture is

10

3
O2

CO2 and H2O

https://dl.doubtnut.com/l/_Gsm3on5P8ZWF
https://dl.doubtnut.com/l/_K2brNITkNz1M
https://dl.doubtnut.com/l/_TzLhrdFAW6mq


A. 0.33

B. 0.77

C. 0.67

D. 0.8

Answer:

Watch Video Solution

24. In an experiment, 4g of  (oxide) was reduced to 2.8g of

the metal. If the atomic mass of metal is 56, the number of oxygen

atoms in the oxide is

A. 1

B. 2

C. 3

M2Ox

https://dl.doubtnut.com/l/_TzLhrdFAW6mq
https://dl.doubtnut.com/l/_uEzb1dh05Sba


D. 4

Answer:

Watch Video Solution

25. The most abundant amounts by mass in the body of a healthy

human adult are oxygen (61.4%), carbon (22.96%) hydrogen (10.0%)

and nitrogen (2.6%). The weight which a 75 kg person would gain if

all  atoms are replaced by  atoms is

A. 7.5 kg

B. 10 kg

C. 15 kg

D. 37.5 kg

Answer:

1H 2H

https://dl.doubtnut.com/l/_uEzb1dh05Sba
https://dl.doubtnut.com/l/_v1sxTR9i55tJ


Watch Video Solution

26. Two elements X and Y combines to form two compounds

 0.1 mol of  weighs 10 g and 0.05 mol of 

weighs 9g, the atomic weights of X and Y are respectively

A. 40, 30

B. 60, 40

C. 20, 30

D. 30, 20

Answer:

Watch Video Solution

XY2 and X3Y2 XY2 X3Y2

https://dl.doubtnut.com/l/_v1sxTR9i55tJ
https://dl.doubtnut.com/l/_qi6OEkeCOtrU


27. 10 ml of a gaseous hydrocarbon were mixed with 100 ml of

oxygen and exploded in a eudiometre tube. The volume of residual

gases was 95 ml of which 20 ml was absorbed by caustic soda and

the remainder by pyragallol. The molecular formula of the

hydrocarbon is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C2H4

C2H2

C2H6

C3H6

https://dl.doubtnut.com/l/_6KiMjeFYNR3c


28. The amount of Arsenic pentasulphide that can be obtained

when 35.5 g of arsenic acid treated with excess  in the

presence of conc. HCl (assuming 100% conversion) is

A. 0.25 mol

B. 0.5 mol

C. 0.333 mol

D. 0.125 ml

Answer:

Watch Video Solution

H2S

29. Which of the following is not an element :

A. Diamond

https://dl.doubtnut.com/l/_WqzcxZR8PTt0
https://dl.doubtnut.com/l/_Ng6tHbsokjWP


B. Graphite

C. Silica

D. Ozone

Answer:

Watch Video Solution

30. An atom is 10 times heavier than  of mass of the carbon

atom. The atomic mass is :

A. 10 u

B. 120 u

C. 1.2 u

D. 12 u

Answer:

1

12th

https://dl.doubtnut.com/l/_Ng6tHbsokjWP
https://dl.doubtnut.com/l/_DcaeYyoBwE5S


Watch Video Solution

31. If the average atomic mass of an element having two isotopes is

71, the ratio of the natural abundance of the two isotopes of mass

70 and 74 will be

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4: 1

3: 1

5: 1

6: 1

32. How many moles of electrons weigh one kilogram?

https://dl.doubtnut.com/l/_DcaeYyoBwE5S
https://dl.doubtnut.com/l/_v7D480U93gls
https://dl.doubtnut.com/l/_j8PrK2J60es1


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

6.02 × 1023

× 10231

9.108

6.02 × 1054

9.108

108

9.108 × 6.02

33. The volume occupied by one molecule of water (density = 1

)

A. 

B. 

C. 

D. 

gcm− 3

18cm3

22400cm3

6.02 × 10− 23cm3

3 × 10− 23cm3

https://dl.doubtnut.com/l/_j8PrK2J60es1
https://dl.doubtnut.com/l/_3948b1kCfXkA


Answer:

Watch Video Solution

34. A sulphur containing organic compound contain 40% sulphur.

The minimum molecular mass of the organic compound is

A. 200 u

B. 210 u

C. 220 u

D. 80 u

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_3948b1kCfXkA
https://dl.doubtnut.com/l/_VDPLCvtBLzts


35. If the vapour density of a gas with respect to methane is 2,

molecular mass of the gas will be

A. 4 u

B. 16 u

C. 8 u

D. 32 u

Answer:

Watch Video Solution

36. 4.4 g of  and 2.24 L  and STP are mixed in a container.

The total number of molecules present in the container will be

A. 

CO2 H2

6.022 × 1023

https://dl.doubtnut.com/l/_VlkXz7sZOUYw
https://dl.doubtnut.com/l/_a5deTkzxtYOr


B. 

C. 

D. 

Answer:

Watch Video Solution

1.2044 × 1023

12.044 × 1023

6.022 × 1024

37. A compound contains 52.2% C and 13 % hydrogen and

remaining percentage oxygen. If vapour density of the compound

is 46, molecular formula is

A. 

B. 

C. 

D. 

C2H6O

C3H6O

C4H12O2

CH2O

https://dl.doubtnut.com/l/_a5deTkzxtYOr
https://dl.doubtnut.com/l/_zmoq7fMvAkV2


Answer:

Watch Video Solution

38. When 22.4 litres of  is mixed with 11.2 litres of 

each at STP, the no. of moles of  formed is equal to

A. 1

B. 2

C. 0.5

D. 1.5

Answer:

Watch Video Solution

H2 ( g ) Cl2 ( g )

HCI ( g )

https://dl.doubtnut.com/l/_zmoq7fMvAkV2
https://dl.doubtnut.com/l/_2EqE5YXSvx0J


39. What is the volume of  liberated (in litres) at 1 atm

pressure and 273 K when 20g of 50% pure calcium carbonate is

treated with excess dilute ?

A. 0.224

B. 2.24

C. 22.4

D. 224

Answer:

Watch Video Solution

CO2

H2SO4

40. 0.84 g of a metal hydride contains 0.042 g of hydrogen. Its

equivalent mass is

A. 80

https://dl.doubtnut.com/l/_ppeqX3VHKUF1
https://dl.doubtnut.com/l/_CJpS9TKZU5gw


B. 40

C. 20

D. 60

Answer:

Watch Video Solution

41. The vapour density of a volatile chloride of a metal is 95 and the

specific heat of the metal is 0.13. The equivalent weight of the

metal will be approximately

A. 6

B. 12

C. 18

D. 24

https://dl.doubtnut.com/l/_CJpS9TKZU5gw
https://dl.doubtnut.com/l/_YChSPEU1FF6K


Answer:

Watch Video Solution

42. The carbonate of a metal is isomorphous with magnesium

carbonate and contains 6.091 per cent of carbon. The atomic mass

of metal is:

A. 24 u

B. 56 u

C. 137 u

D. 260 u

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_YChSPEU1FF6K
https://dl.doubtnut.com/l/_nLIUDcVDbASG
https://dl.doubtnut.com/l/_WhY9H2PD5Eju


43. 50 ml 10 N , 25 ml 12N HCl and 40 ml 5N  were

mixed together and the volume of the mixture was made 1000 ml

by adding water. The normality of the resultant solution will be :

A. 1 N

B. 2 N

C. 3 N

D. 4 N

Answer:

Watch Video Solution

H2SO4 HNO3

44. 6.02 x 10^21' molecules of urea are present in 100 'mL' of its

solution. "The concentration of urea solution is -

A.  M10− 3

https://dl.doubtnut.com/l/_WhY9H2PD5Eju
https://dl.doubtnut.com/l/_n2gAaQPvRhHY


B.  M

C.  M

D.  M

Answer:

Watch Video Solution

10− 1

2 × 10− 2

10− 2

45. A drop (0.05mL) of 12M HCI is spread over a thin sheet of

aluminium foil (thickness  cm and density 2.7g ).

Assuming whole of the HCI is used to dissolve Al. The maximum

area of-hole produced in the foil is

A. 

B. 

C. 

1 × 10− 2 mL− 1

2 × 10− 1cm2

20 × 10− 1cm2

200 × 10− 1cm2

https://dl.doubtnut.com/l/_n2gAaQPvRhHY
https://dl.doubtnut.com/l/_t7JQ05ehlS7H


D. 

Answer:

Watch Video Solution

2000 × 10− 1cm2

46. 5.85g NaCl is dissolved in 1L water. The number of ions of

 in 1 ml of this solution will be

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Na+ and Cl−

6.02 × 1020

6.02 × 1019

6.02 × 1023

1.2 × 1020

https://dl.doubtnut.com/l/_t7JQ05ehlS7H
https://dl.doubtnut.com/l/_MgY1jhs89UjN
https://dl.doubtnut.com/l/_YoMO6fHIh1F3


47. 100 ml of  on heating forms P_(4) and . The volume

change in the reaction is

A. an increase in 50 ml

B. an increase of 100 ml

C. an increase of 150 ml

D. an decrease of 50 ml

Answer:

Watch Video Solution

PH3 H2

48. The present system of atomic masses is based on carbon-12 as

the standard and has been agreed upon in

A. 1960

B. 1961

https://dl.doubtnut.com/l/_YoMO6fHIh1F3
https://dl.doubtnut.com/l/_iSqvGlNdE5RQ


Level Ii

C. 1980

D. 1976

Answer:

Watch Video Solution

1. How many years it would take to spend Avogadro's number of

rupees at the rate 10 lakhs per second?

A.  years

B.  years

C.  years

D.  years

1010

1.8 × 109

19 × 1010

1.9 × 109

https://dl.doubtnut.com/l/_iSqvGlNdE5RQ
https://dl.doubtnut.com/l/_PLTS5BCcXLZ1


Answer:

Watch Video Solution

2. Which of the following does not obeys law of multiple

proportion?

A. 

B. 

C. 

D. None of the above

Answer:

Watch Video Solution

CuO, Cu2O

NH3, N2H4

N2O, NO

https://dl.doubtnut.com/l/_PLTS5BCcXLZ1
https://dl.doubtnut.com/l/_SKywYpSEwMwZ


3. Which of the following contain maximum number of atoms?

A. 1g 

B. 1 gram atom hydrogen

C. 1 gram molecule hydrogen

D. one gram 

Answer:

Watch Video Solution

H2

Cl2

4. The maximum number of molecules is present in

A. 15 L of  gas at STP

B. 5L of  gas at STP

C. 0.5 g of  gas

H2

N2

H2

https://dl.doubtnut.com/l/_LwJqYszUJrNX
https://dl.doubtnut.com/l/_K95IF1BZNIzJ


D. 10g of  gas

Answer:

Watch Video Solution

O2

5. The number of atoms of oxygen present in 10.6 g of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Na2CO3

6 × 1022

12 × 1022

1.8 × 1023

3 × 102

https://dl.doubtnut.com/l/_K95IF1BZNIzJ
https://dl.doubtnut.com/l/_tyrd65YKhtSD


6. If mass of one atom is  g, the number of nucleons

(neutrons and protons) present in 2 atoms of the element

A. 40

B. 20

C. 10

D. 

Answer:

Watch Video Solution

3.3 × 10− 23

NA

7. A mixture of gases contains  in the ratio of 1 : 4

(w/w). What is the molar ratio of the two gases in the mixture?

A. 

H2 and O2

16: 1

https://dl.doubtnut.com/l/_saskGdpZz9Fj
https://dl.doubtnut.com/l/_QfsNxyrSXzMk


B. 

C. 

D. 

Answer:

Watch Video Solution

2: 1

1: 4

4: 1

8. The number of sodium atom in 2 moles of sodium ferrocyanide is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

12 × 1023

26 × 1023

34 × 1023

48 × 1023

https://dl.doubtnut.com/l/_QfsNxyrSXzMk
https://dl.doubtnut.com/l/_RdxOJ1CJwNO3


Watch Video Solution

9. In which case the number of molecules of water maximum?

A. 18 ml water

B. 0.18 g of water

C. 0.0024 L of water vapours at 1 atm and 273 K

D.  mole of water

Answer:

Watch Video Solution

10− 3

10. From 200 mg of  molecules are removed. How many

moles of  are left?

A. 

CO2, 1021

CO2

2.88 × 10− 3

https://dl.doubtnut.com/l/_RdxOJ1CJwNO3
https://dl.doubtnut.com/l/_GfTvbC0osimp
https://dl.doubtnut.com/l/_ipH7onoZmPkg


B. 

C. 

D. 

Answer:

Watch Video Solution

28.8 × 10− 3

0.288 × 10− 3

1.66 × 10− 2

11. How many moles of magnesium phosphate 'Mg_3(PO_4)_2' will

contain 0.25 mole of oxygen atom?

A. 0.02

B. 

C. 

D. 

Answer:

3.125 × 10− 2

1.25 × 10− 2

2.5 × 10− 2

https://dl.doubtnut.com/l/_ipH7onoZmPkg
https://dl.doubtnut.com/l/_k3mKdtLS0KyN


Watch Video Solution

12. The weight of iron which will be converted into its oxides by the

action of 18g steam will be

A. 168 g

B. 84 g

C. 42 g

D. 21 g

Answer:

Watch Video Solution

13. Caffein has molecular weight of 194. It contain 28.9% by mass of

nitrogen. Number of atoms of nitrogen in one molecule of it is

https://dl.doubtnut.com/l/_k3mKdtLS0KyN
https://dl.doubtnut.com/l/_SkIV0lpYyWsp
https://dl.doubtnut.com/l/_63Y7hYtIXs1E


A. 2

B. 3

C. 4

D. 5

Answer:

Watch Video Solution

14. The crysalline salt,  on heating loses 55.9% of

its weight. The formula of crystalline salt is

A. 

B. 

C. 

D. 

Na2SO4. xH2O

Na2SO4.5H2O

Na2SO4.7H2O

Na2SO4.10H2O

Na2SO4.6H2O

https://dl.doubtnut.com/l/_63Y7hYtIXs1E
https://dl.doubtnut.com/l/_BRQGKPXDHDoN


Answer:

Watch Video Solution

15. 0.24 g of a volatile liquid on vapourisation gives 45 ml of

vapours at STP. What will be the vapour density of the substance?

(Density of )

A. 95.39

B. 39.95

C. 99.53

D. 59.93

Answer:

Watch Video Solution

H2 = 0.089gL− 1

https://dl.doubtnut.com/l/_BRQGKPXDHDoN
https://dl.doubtnut.com/l/_tKt3X1GPwrrK
https://dl.doubtnut.com/l/_REpbCGfkgEEy


16. The vapour density of a mixture containing  is

38.3 at . Calculate the mole of  in 100mole of mixture

A. 33.48

B. 66.52

C. 86

D. 16.8

Answer:

Watch Video Solution

NO2 and N2O4

27∘C NO2

17. A plant virus is a uniform cylindrical particle of  in

diameter and  long. The specific volume of the virus is 0.75

cm/g. If the virus is considered to be a single particle, the

molecular weight is

150A ∘

5000A ∘

https://dl.doubtnut.com/l/_REpbCGfkgEEy
https://dl.doubtnut.com/l/_tQRjxKrhXyS2


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

7.095 × 107

7.095 × 108

7.095 × 109

7.095 × 106

18. 0.037 g of an alcohol, R-OH was added to  and the gas

evolved measured 11.2 ml at STP. The molecular mass of R-OH will

be

A. 47 u

B. 79 u

C. 77 u

C2H5Mgl

https://dl.doubtnut.com/l/_tQRjxKrhXyS2
https://dl.doubtnut.com/l/_iyVSJdrpx9xM


D. 74 u

Answer:

Watch Video Solution

19. A mixture of 2.3 g formic acid and 4.5 g oxalic acid is treated

with conc. . The evolved gaseous mixture is passed through

KOH pellets. Weight (in g) of the remaining product at STP will be

A. 1.4

B. 3

C. 2.8

D. 4.4

Answer:

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_iyVSJdrpx9xM
https://dl.doubtnut.com/l/_VxL7CA9bLFBI


20. Air contains nearly 20% oxygen by volume. The volume of air

needed for complete combustion of 100 ml of acetylene will be

A. 500 ml

B. 100 ml

C. 250 ml

D. 1250 ml

Answer:

Watch Video Solution

21. 20 g of a magnesium carbonate sample decomposes on heating

to give carbondioxide, and 8g magnesium oxide. What will be the

percentage purity of ,in the sampleMgCO3

https://dl.doubtnut.com/l/_VxL7CA9bLFBI
https://dl.doubtnut.com/l/_aBh8fqezqKsg
https://dl.doubtnut.com/l/_WKemNJupjfbD


A. 96

B. 60

C. 80

D. 75

Answer:

Watch Video Solution

22. A mixture of  in the volume ratio X : Y has total

volume 30 ml. On complete combustion it gave 40 ml . If the

ratio in the original mixture has been Y : X instead of X : Y, the

volume of  would have been produced on combustion is

A. 40 ml

B. 60 ml

CH4 and C2H4

CO2

CO2

https://dl.doubtnut.com/l/_WKemNJupjfbD
https://dl.doubtnut.com/l/_kKQspVRGar2J


C. 50 ml

D. 30 ml

Answer:

Watch Video Solution

23. A gaseous compound of nitrogen and hydrogen contains 12.5%

(by mass) of hydrogen. The density of the compound relative to

hydrogen is 16. The molecular formula of the compound is

A. 

B. 

C. 

D. 

Answer:

N2H3

N2H

NH3

N2H4

https://dl.doubtnut.com/l/_kKQspVRGar2J
https://dl.doubtnut.com/l/_znhOGyBEiVkV


Watch Video Solution

24. . Reaction of 6g of A,  atom of

B, 0.036 mol of C yields 4.8 g of compound . If the atomic

mass of A and C are 60 and 80 amu, respectively the atomic mass

of B is

A. 70 amu

B. 60 amu

C. 50 amu

D. 40 amu

Answer:

Watch Video Solution

A + 2B + 3C → AB2C3 6 × 1023

AB2C3

https://dl.doubtnut.com/l/_znhOGyBEiVkV
https://dl.doubtnut.com/l/_uhsmGxLMROVg


25. In Haber process, 30 litres of  and 30 litres of  were taken

for reaction which yielded only 50% of the expected product. What

will be the composition of the gaseous mixture under the above

said condition in the end?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

H2 N2

20LNH3, 20LN2, 20LH2

10LNH3, 25LN2, 15LH2

20LNH3, 10LN2, 30LH2

20LNH3, 25LN2, 15LH2

26. The carbonate of a metal is isomorphous with  and

contains 6.091 percentage of carbon. The atomic weight of metal is

MgCO3

https://dl.doubtnut.com/l/_wyEyRemNnKFi
https://dl.doubtnut.com/l/_ggMowilrwE3E


A. 24 u

B. 56 u

C. 137 u

D. 65 u

Answer:

Watch Video Solution

27. 0.84 g of a carbonate of a metal on heating gave 0.4 g metal

oxide. The specific heat of metal is 0.25. The atomic mass of metal

is

A. 12 u

B. 24 u

C. 36 u

https://dl.doubtnut.com/l/_ggMowilrwE3E
https://dl.doubtnut.com/l/_H0JiSE2atVyl


D. 48 u

Answer:

Watch Video Solution

28. A metal M of atomic mass A forms an oxide of the formula

. The equivalent mass of metal is given by

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

MxOy

2A
y

x

xy

A

A

y

Ax

2y

https://dl.doubtnut.com/l/_H0JiSE2atVyl
https://dl.doubtnut.com/l/_yFN73uD8Ksxo
https://dl.doubtnut.com/l/_MTMLoqftVWXG


29. If the density of methanol is '0.793kgL̂ (-1)', what is its volume

needed for making '2.5 L' of its '0.25M' solution?

A. 35 mL

B. 25 mL

C. 15 mL

D. 12 mL

Answer:

Watch Video Solution

30. Calculate the concentration of nitric acid in moles per litre in a

sample which has a density of  and the mass percent of

nitric acid in it being 

A. 15.44 M

1.41gmL− 1

69 % .

https://dl.doubtnut.com/l/_MTMLoqftVWXG
https://dl.doubtnut.com/l/_UxWcZ3D5rEom


B. 11.8 M

C. 19 M

D. 8 M

Answer:

Watch Video Solution

31. The density of 3 Absolution of NaCl is  Calculate

molality of the solution

A. 3.2

B. 3.5

C. 2.79

D. 1.79

Answer:

1.25gmL− 1

https://dl.doubtnut.com/l/_UxWcZ3D5rEom
https://dl.doubtnut.com/l/_DGSe3TVTtXyn


Watch Video Solution

32. A drop (0.05mL) of 12M HCI is spread over a thin sheet of

aluminium foil (thickness  cm and density 2.7g ).

Assuming whole of the HCI is used to dissolve Al. The maximum

area of-hole produced in the foil is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1 × 10− 2 mL− 1

2 × 10− 1cm2

20 × 10− 1cm2

200 × 10− 1cm2

2000 × 10− 1cm2

https://dl.doubtnut.com/l/_DGSe3TVTtXyn
https://dl.doubtnut.com/l/_uG2MV04l8CZd


33. What is the mass of the precipitate formed when 50 mL of

16.9% solution of  is mixed with 50 mL of 5.8% NaCl

solution?

A. 3.5 g

B. 7 g

C. 14 g

D. 28

Answer:

Watch Video Solution

AgNO3

34. A compound made of two elements A and B is found to contain

25% A (atomic mass ) and 75% B (atomic mass ). The

simplest formula of the compound is

12.5 37.5

https://dl.doubtnut.com/l/_b3XJK5wZXSiQ
https://dl.doubtnut.com/l/_R1idcchGJt3z


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

AB

A2B2

AB3

A3B

35. The carbonate of a metal is isomorphous with  and

contains 6.091 percentage of carbon. The atomic weight of metal is

A. 

B. 

C. 

D. 

MgCO3

48

68.5

137

120

https://dl.doubtnut.com/l/_R1idcchGJt3z
https://dl.doubtnut.com/l/_S40kbx3EZ0VQ


Answer: C

Watch Video Solution

36. In the reaction ,

when 1 mole of ammonia and 1 mole of  are made to react to

completion.

A.  mole of  is produced

B.  mole of NO will be produced

C. All the oxygen will be consumed

D. All the ammonia will be consumed

Answer: C

Watch Video Solution

4NH3(g) + 5O2(g) → 4NO(g) + 6H2O(l)

O2

1.0 H2O

1.0

https://dl.doubtnut.com/l/_S40kbx3EZ0VQ
https://dl.doubtnut.com/l/_cWoYtkn1hxjp
https://dl.doubtnut.com/l/_nZrXbh2FPKDQ


37.  litre of carbon monoxide is present at STP. It is completely

oxidised to . The volume of  formed is  litres at STP.

What is the value of  in litres?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

X

CO2 CO2 11.2

X

22.4

11.2

5.6

44.8

38. 250 ml of a sodium carbonate solution contains 2.65 grams of

. If 10 ml of this solution is diluted to one litre,what is the

concentration of the resultant solution? (mol.wt. of

)

Na2CO3

Na2CO3 = 106

https://dl.doubtnut.com/l/_nZrXbh2FPKDQ
https://dl.doubtnut.com/l/_mLf8wMlKjFnP


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0.1M

0.001M

0.01M

10− 4M

39. If one gram of a metal carbonate gave  of its oxide on

heating, then equivalent weight of the metal will be

A. 30

B. 40

C. 25

D. 20

0.56g

https://dl.doubtnut.com/l/_mLf8wMlKjFnP
https://dl.doubtnut.com/l/_KRBrQZcJZdjG


Answer: D

Watch Video Solution

40. 4 g of copper was dissolved in concentrated nitric acid. The

copper nitrate solution on strong heating gave 5 g of its oxide. The

equivalent weight of copper is

A. 20

B. 12

C. 32

D. 23

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_KRBrQZcJZdjG
https://dl.doubtnut.com/l/_fPDL7hyV7Fy7
https://dl.doubtnut.com/l/_t3PkrEWAtLOV


41. The equivalent weight of a metal is 36. What weight of the

metal would give  of its chloride?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

9.322g

1.6935g

2.6935g

4.6935g

3.6935g

42. Calculate the weight of lime (CaO) obtained by heating 200 kg

of 95% pure lime stone .

A. 

B. 

(CaCO3)

104.4kg

105.4kg

https://dl.doubtnut.com/l/_t3PkrEWAtLOV
https://dl.doubtnut.com/l/_xRnUBK0M5Rnq


C. 

D. 

Answer: D

Watch Video Solution

212.8kg

106.4kg

43. The weight of NaCl decomposed by , if 6g of

sodium hydrogen sulphate and  of HCI, were produced in

the reaction is:

A. 

B. 

C. 

D. 

Answer: C

4.9g  of H2SO4

1.825g

6.921g

4.65g

2.925g

1.4g

https://dl.doubtnut.com/l/_xRnUBK0M5Rnq
https://dl.doubtnut.com/l/_rO3F33uGD0Oi


Watch Video Solution

44. 2 g of a mixture of CO and  on reaction with excess 

produced  of  . What will be the mass percentage of  in

the original mixture ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CO2 I2O5

2.54g I2 CO2

35 %

70 %

30 %

60 %

https://dl.doubtnut.com/l/_rO3F33uGD0Oi
https://dl.doubtnut.com/l/_IppHd9DcAr8S


45. If  of a mixture of two metals A and B with respective

equivalent weights 12 and 9 displace 560ml of  at STP from an

acid, the composition of the mixture is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.5g

H2

40 % A, 60 % B

60 % A, 40 % B

30 % A, 70 % B

70 % A, 30 % B

46. When  of Mg is heated strongly in a nitrogen 

atmosphere,  of the compounds is formed. Hence,

compound formed is

0.273g (N2)

0.378g

https://dl.doubtnut.com/l/_VMSXHG6ZC609
https://dl.doubtnut.com/l/_b2iLFtvGszWI


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Mg3N2

Mg3N

Mg2N3

MgN

47. A spherical ball of radius 7cm contains 56% iron. If density is

, number of moles of Fe present approximately is

A. 

B. 

C. 

D. 

1.4g/cm3

10

15

20

25

https://dl.doubtnut.com/l/_b2iLFtvGszWI
https://dl.doubtnut.com/l/_Mtmn7Tg5kMew


Answer: C

Watch Video Solution

48.  sample of  reacts with 20g solution of HCl having

20% by mass of HCl (density ). Calculate percentage

purity of  sample .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6.0g CaCO3

= 1.10g/mL

CaCO3

9.13 %

91.33 %

54.8 %

5.48 %

https://dl.doubtnut.com/l/_Mtmn7Tg5kMew
https://dl.doubtnut.com/l/_X2mSs9MGAZIc
https://dl.doubtnut.com/l/_lHsIeleAUVWe


49. If a person inhale  oxygen atom per sec, the volume of

oxygen gas  inhaled by the person in a day at STP is :

A.  litre

B.  litre

C.  litre

D.  litre

Answer: D

Watch Video Solution

1020

(O2)

16.06

16.06 × 10− 5

16.06 × 10− 2

16.06 × 101

50. The number of  molecules and its volume at S.T.P in 50.6 g of

hydrated sodium carbonate ore:

A.  litre

B.  litre

O2

6.926 × 1023, 22.4

5.92 × 1021, 25.76

https://dl.doubtnut.com/l/_lHsIeleAUVWe
https://dl.doubtnut.com/l/_h0ydb1OmvZ8e


C.  litre

D.  litre

Answer: C

Watch Video Solution

6.926 × 1023, 25.76

5.92 × 1021, 22.4

51. 10g of CO on burning in air gives the product which have the

number of nucleons

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

9.47 × 1023

94.7 × 1023

947 × 1023

947 × 1024

https://dl.doubtnut.com/l/_h0ydb1OmvZ8e
https://dl.doubtnut.com/l/_mdUCzib1Uzgw


52. A plant virus is a uniform cylindrical particle of  in

diameter and  long. The specific volume of the virus is 0.75

cm/g. If the virus is considered to be a single particle, the

molecular weight is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

150A ∘

5000A ∘

7.095 × 107

70.95 × 107

9.705 × 107

7.095 × 105

https://dl.doubtnut.com/l/_mdUCzib1Uzgw
https://dl.doubtnut.com/l/_vIoPBeSw320r


53. Haemoglobin contains 0.25% iron by weight. The molecular wt.

of haemoglobin is 89600. The no. of iron atoms per molecule is (At.

wt. of iron = 55.84)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4

2

6

8

54. Copper forms two oxides . For the same amount of copper,

twice as much oxygen was used to form first oxide than to form

https://dl.doubtnut.com/l/_Mqfno7F9lPZV
https://dl.doubtnut.com/l/_mQWwNz4HtrES


second one. What is the ratio of the valencies of copper in first and

second oxides ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2: 1

1: 2

3: 1

1: 3

55.  of a gaseous hydrocarbon reacts with 30mL of . The

resultant gas, on cooling is found to measure 25mL of which 10mL

are absorbed by NaOH and the remainder by pyrogallol. Determine

molecular formula of hydrocarbon. All measurements are made at

constant pressure and temperature.

5mL O2

https://dl.doubtnut.com/l/_mQWwNz4HtrES
https://dl.doubtnut.com/l/_k0EVPdh6SLiU


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H6

C3H6

C2H4

CH3

56. Calculate the mass of calcium oxide required that react with

852 g of .

A. 

B. 

C. 

D. 

P4O10

2016g

1008g

504g

1800g

https://dl.doubtnut.com/l/_k0EVPdh6SLiU
https://dl.doubtnut.com/l/_ExxBvbdXs6kG


Answer: B

Watch Video Solution

57. Asample of an alloy weighing  and containing 90% Ag was

dissolved in conc. . Ag was analysed by Volhard method in

which 25mL of KCNS were required for complete neutralization.

Determine normality of KCNS.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.50g

HNO3

0.167

0.326

0.267

0.067

https://dl.doubtnut.com/l/_ExxBvbdXs6kG
https://dl.doubtnut.com/l/_Jsyh8gkMXYZI


58. 109% labelled oleum has x mole of  and y mole of 

respectively. What is the value of (x+y)/(x-y)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2SO4 SO3

8.81

9.91

10.6

11.6

59. What is the molar mass of a substance, each molecule of which

contains 9 carbon atoms, 13 hydrogen atoms and  of

other component?

A. 

2.33 × 10− 23g

235.04g

https://dl.doubtnut.com/l/_Y6O6Dbw3ullW
https://dl.doubtnut.com/l/_zQBmsM9Wsnx8


B. 

C. 

D. 

Answer: C

Watch Video Solution

153.03g

135.04g

253.04g

60. The molality of an  solution is 9. The weight of the

solute in 1 kg  solution is:

A. 

B. 

C. 

D. 

Answer: B

H2SO4

H2SO4

900.0g

469g

882.0g

9.0g

https://dl.doubtnut.com/l/_zQBmsM9Wsnx8
https://dl.doubtnut.com/l/_ESfJLcNl2Kwb


Watch Video Solution

61. Calculate the mass of CaO required to remove the hardness of

 litre of water containing  of calcium bicarbonate per litre.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

106 1.62g

5.6 × 104g

5.6 × 105g

5.6 × 106g

5.6 × 103g

62. Two litres of  at  and  atmosphere is neutralized

by 134 mL of a solution of . Calculate normality of .

NH3 30∘C 0.20

H2SO4 H2SO4

https://dl.doubtnut.com/l/_ESfJLcNl2Kwb
https://dl.doubtnut.com/l/_xcUp9woXMgnH
https://dl.doubtnut.com/l/_t7pAdKUdehRB


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.12

0.23

0.17

0.19

63. How much  would be needed to make 250mL of a

solution having same concentration of  as the one containing

3.78 g of NaCl per 100 mL?

A. 

B. 

C. 

BaCl2

Cl−

15.30g

12.80g

18.30g

https://dl.doubtnut.com/l/_t7pAdKUdehRB
https://dl.doubtnut.com/l/_dWjrQoT6Ncr8


D. 

Answer: D

Watch Video Solution

17.00g

64. A  solution of KOH in water has 30% by mass KOH.

Calculate density of solution.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6.90M

1.33gmL− 1

1.288gmL− 1

1.66gmL− 1

1.44gmL− 1

https://dl.doubtnut.com/l/_dWjrQoT6Ncr8
https://dl.doubtnut.com/l/_NxRmZOxd8vwN
https://dl.doubtnut.com/l/_CbgBmNhFTmNW


65. Calculate the number of atoms of oxygen present in .

What would be the mass of CO having the same number of oxygen

atoms?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

88gCO2

98gCO

120gCO

112gCO

132gCO

66. What volume at NTP of ammonia gas will be required to be

passed into 30mL of  solution to bring down the acid

normality to ?

1NH2SO4

0.2N

https://dl.doubtnut.com/l/_CbgBmNhFTmNW
https://dl.doubtnut.com/l/_3QtW3q5omhe5


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

537.6mL

520.7mL

433.6mL

420.5mL

67. A  sample consisting of only  and  is

heated at , converting the two salts into 

. The sample then weighs . If the

sample had been heated to , where the products are CaO

and MgO, what would the mixtures of oxides have weighed?

A. 

B. 

0.60g CaC2O4 MgC2O4

500∘C

CaCO3  and MgCO3 0.465g

900∘C

0.12g

0.21g

https://dl.doubtnut.com/l/_3QtW3q5omhe5
https://dl.doubtnut.com/l/_ktk9McYpPukC


C. 

D. 

Answer: C

Watch Video Solution

0.252g

0.3g

68. Urea  is manufactured by passing 

through ammonia solution followed by crystallization.  for the

above reaction is prepared by combustion of hydrocarbon. If

combustion of 236kg of a saturated hydrocarbon 

produces as much  as required for production of  urea

then molecular formula of hydrocarbon is : , ,

, ,

A. 

B. 

(H2NCONH2) CO2(g)

CO2

(CnH2n+ 2)

CO2 999.6kg

C10H22 C12H26

C13H28 C8H18

C10H22

C12H26

https://dl.doubtnut.com/l/_ktk9McYpPukC
https://dl.doubtnut.com/l/_REeQ5gMtsYD8


C. 

D. 

Answer: B

Watch Video Solution

C13H28

C8H18

69. A silver coin weighing  was dissolved in nitric acid. When

sodium chloride was added to the solution all the silver (present at

) was precipitated as silver chloride. The weight of the

precipitated silver chloride was . Calculate the percentage of

silver in the coin. : , , , 

A. 

B. 

C. 

D. 

11.34g

AgNO3

14.35g

4.8 % 95.2 % 90 % 80 %

4.8 %

95.2 %

90 %

80 %

https://dl.doubtnut.com/l/_REeQ5gMtsYD8
https://dl.doubtnut.com/l/_f4rjmQg2lhCh


Answer: B

Watch Video Solution

70. The conversion of oxygen to ozone occurs to the extent of 15%

only. The mass of ozone that can be prepared from  of

oxygen at 1 atm and 273k will be :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

67.2L

14.4gm

96gm

640gm

64gm

https://dl.doubtnut.com/l/_f4rjmQg2lhCh
https://dl.doubtnut.com/l/_Mv6Hs2x6L2LO
https://dl.doubtnut.com/l/_GM9hFyn0v6tk


71.  of a solution of an acid (molar mass =98) containing 

 of the acid per litre were completely neutralized by 

of aq.NaOH containing 20g of NaOH per .The basicity of the

acid is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

100cm3

29.4g 90.0cm3

500cm3

3

2

1

4

72. A 150ml of solution of  is divided into two unequal parts. One

part reacts with hypo solution in acidic medium . 15ml of 

hypo was consumed. The second part was added to 100ml of 

I2

0.4M

0.3M

https://dl.doubtnut.com/l/_GM9hFyn0v6tk
https://dl.doubtnut.com/l/_rug8teFl4UCX


hot NaOH sodium to produce . Residual base required 10ml of

 solution for complete neutralization.What was the

initial concentration of  ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

IO−
3

0.3MH2SO4

I2

0.08M

0.1M

0.2M

0.03M

73. The percentage composition (by weight) of a solution is 45%X,

15%Y,and 40% Z. Calculate the mole fraction of Z component of the

solution.(Molecular mass of X = 18,Y=60 and Z = 60)

A. 0.87

https://dl.doubtnut.com/l/_rug8teFl4UCX
https://dl.doubtnut.com/l/_Q280I9siXm2a


B. 

C. 

D. 

Answer: B

Watch Video Solution

0.197

0.259

0.216

74. Concentrated  is 69% by mass of nitric acid. Calculate

the volume of the solution which contains 23 g of . (Density

of concentrated  solution is )

A. 

B. 

C. 

D. 

HNO3

HNO3

HNO3 1.41gml− 1

23.6

32.6

26.8

18.5

https://dl.doubtnut.com/l/_Q280I9siXm2a
https://dl.doubtnut.com/l/_JpXQf4BvafiD


Answer: A

Watch Video Solution

75. A gaseous hydrocarbon X, was burnt in excess of oxygen. A

 sample of X, at STP gave . How many C - atoms

are there in one molecule of X?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0.112dm3 0.88gCO2

1

2

3

4

https://dl.doubtnut.com/l/_JpXQf4BvafiD
https://dl.doubtnut.com/l/_tfuzYhMlA7dS
https://dl.doubtnut.com/l/_fwdndglR3eLA


76.  is dissolved in 500 mL of . Mass of 

 that should be added to this solution to get a molality

of  with respect to  irons is 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10.1g  of KNO3 H2O

Ba(NO3)2

0.3 NO−
3

(Mw  of KNO3 = 101gmol− 1, Mw  of Ba(NO3)2 = 261gmol− 1)

1.3g

13g

6.5g

65g

77. One litre of  solution was heated in a beaker. When

the volume was reduced to  of HCI was lost out, the

new normality of solution is

N/2HCI

600mL, 9.125g

https://dl.doubtnut.com/l/_fwdndglR3eLA
https://dl.doubtnut.com/l/_u9q3kKrw4YA6


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

≈ 0.04

≈ 0.8

≈ 0.4

≈ 0.2

78. When 10mL of ethyl alcohol (density ) is mixed

with 20mL of water (density ) at , the final

solution has a density of . The percentage change in

total volume on mixing is

A. 

B. 

= 0.7893gmL− 1

0.9971gmL− 1 25∘C

0.9571gmL− 1

3.1 %

2.4 %

https://dl.doubtnut.com/l/_u9q3kKrw4YA6
https://dl.doubtnut.com/l/_DWjU3GEeAaW1


C. 

D. 

Answer: A

Watch Video Solution

1 %

5 %

79. Calculate the number of oxygen atoms required to combine

with  to from  if 80% of  is converted into

products. 

.


3.24×10^23


3.6×10^23


1.8×10^23


6.02×10^23

A. 

7.0g  of N2 N2O3 N2

N2 + O2 → N2O3

3

2

3.24 × 1023

https://dl.doubtnut.com/l/_DWjU3GEeAaW1
https://dl.doubtnut.com/l/_hPERLwavqLpD


B. 

C. 

D. 

Answer: B

Watch Video Solution

3.6 × 1023

1.8 × 1023

6.02 × 1023

80. One litre of a sample of hard water contains

 and . The total hardness in

terms of ppm of  is

A. 5 p pm

B. 10p pm

C. 20p pm

D. 16p pm

5.55mg  of CaCl2 4.75mg  of MgCl2

CaCO3

https://dl.doubtnut.com/l/_hPERLwavqLpD
https://dl.doubtnut.com/l/_FMLoCmUFMo5P


Answer: B

Watch Video Solution

81. 10mL of  HCI and 30mL of  HCI together exactly

neutralise 40 mL of solution of NaOH, which is also exactly

neutrlised by a solution in water of  of an organic acid. What

is the equivalent acid. What is the equivalent weight of the organic

acid?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0.2N 0.1N

0.61g

61

91.5

122

183

https://dl.doubtnut.com/l/_FMLoCmUFMo5P
https://dl.doubtnut.com/l/_ZtAUKvyRcqUV


82. Element X reacts with oxygen to produce a pure sample of

. In an experiment it is found that  of X produces 

. Calculate the atomic weight of X. (Atomic weight

of oxygen, ).

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

X2O3 1.00g

1.16g  of X2O3

16.0gmol− 1

67

100.2

125

150

https://dl.doubtnut.com/l/_ZtAUKvyRcqUV
https://dl.doubtnut.com/l/_La43bjxueCtq


83. Resultant molarity of  ion in a mixture of 100 mL of 

 and200 mL of  is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H +

0.1MH2SO4 0.1H3PO3

0.1

0.2M

0.267M

0.133M

84. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

https://dl.doubtnut.com/l/_OHMF4ffqATtX
https://dl.doubtnut.com/l/_y6c4YxlMewQx


Assertion : The equivalent mass of an element is variable. 

Reason : It depends on the valency of the element.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: A

Watch Video Solution

85. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

https://dl.doubtnut.com/l/_y6c4YxlMewQx
https://dl.doubtnut.com/l/_SC5KdVsEn7Bo


Assertion : In a combustion reaction in the air, oxygen is the

limiting reactant.

Reason : Oxygen is present in limited amount (only21%) in the air.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: D

Watch Video Solution

86. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

https://dl.doubtnut.com/l/_SC5KdVsEn7Bo
https://dl.doubtnut.com/l/_DSDqn6YGrYzk


the appropriate answer. 

Assertion : 12 parts by mass of carbon combine with 16 and 32

parts by mass of oxygen to from CO and  respectively. 


Reason : A given compound always contains exactly the same

proportion of elements by weight.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: B

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_DSDqn6YGrYzk


87. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

Assertion : Molar volume of gases changes considerably with

temperature and pressure. 

Reason : Molar volume of a substance is the volume occupied by 1

mole of that substance.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: B

https://dl.doubtnut.com/l/_Euv3IdtmvuZx


Watch Video Solution

88. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

Assertion : 1 amu equals to . 


Reason :  equals th mass of  atom.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: A

1.66 × 10− 24g

1.66 × 10− 24g 1/12 C 12

https://dl.doubtnut.com/l/_Euv3IdtmvuZx
https://dl.doubtnut.com/l/_wFs0kVxBsUu9


Watch Video Solution

89. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

Assertion : Average atomic mass of an element depends upon the

atomic masses of different isotopes and their fractional

abundances. 

Reason : Average atomic mass is obtained by multiplying the

atomic mass of the heavier isotope with its fractional abundances.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

https://dl.doubtnut.com/l/_wFs0kVxBsUu9
https://dl.doubtnut.com/l/_v9WzJwwgcIa7


D. If both (A) and (R ) are incorrect.

Answer: C

Watch Video Solution

90. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

Assertion : The number of O atoms in 1 g of  1 g of  and 1 g of

atomic oxygen is same. 

Reason : Each value represents -atom of oxygen.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

O2 O3

1/16g

https://dl.doubtnut.com/l/_v9WzJwwgcIa7
https://dl.doubtnut.com/l/_MNQ2sLR2YDOS


C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: A

Watch Video Solution

91. Assertion : In gaseous reaction, the ratio of volumes of

reactants and products is in agreement with their molar ratio 

Reason : Volume of a gas is inversely proportional to its moles at a

particular temperature and pressure

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

https://dl.doubtnut.com/l/_MNQ2sLR2YDOS
https://dl.doubtnut.com/l/_2u0vMPPlNwqM


C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: C

Watch Video Solution

92. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

Assertion : Components of a homogeneous mixture cannot be

separated by using physical methods. 

Reason : Composition of homogeneous mixture is uniform

throughout as the components react to form a single compound.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

https://dl.doubtnut.com/l/_2u0vMPPlNwqM
https://dl.doubtnut.com/l/_Wme29aGJgbpO


B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: D

Watch Video Solution

93. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

Assertion : The reactant which is present in larger amount limits

the amount of product formed is called limiting reagent. 

Reason : Amount of product formed does not depend upon the

amount of reactants taken.

https://dl.doubtnut.com/l/_Wme29aGJgbpO
https://dl.doubtnut.com/l/_xxio4yk3my7H


A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: D

Watch Video Solution

94. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

Assertion : The ratio by volume of  in a reaction 

 is 1 : 1 : 2. 


H2 :Cl2 :HCl

H2 + Cl2 → 2HCl

https://dl.doubtnut.com/l/_xxio4yk3my7H
https://dl.doubtnut.com/l/_zOZ8ixAT9yKp


Reason : Substances always react in such a way that their volume

ratio is simple whole number.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: C

Watch Video Solution

95. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

https://dl.doubtnut.com/l/_zOZ8ixAT9yKp
https://dl.doubtnut.com/l/_Ig1T0C90gs56


Assertion : 1 mole oxygen and 1 mole nitrogen have same volume

at same temerature and pressure.. 

Reason : 1 mole gas occupies 22.4 litres at STP.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: B

Watch Video Solution

96. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

https://dl.doubtnut.com/l/_Ig1T0C90gs56
https://dl.doubtnut.com/l/_J1qeweS0SvMr


the appropriate answer. 

Assertion : The standard unit for expressing the mass of atoms is

amu. 

Reason : amu is also called as avogram.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_J1qeweS0SvMr


97. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

Assertion : Vapour density of  is half of . 


Reason : 1.6 g of  contains same number of electrons as 3.2 g

of .

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: C

Watch Video Solution

CH4 O2

CH4

O2

https://dl.doubtnut.com/l/_XqSavmv0O8WU


98. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

Assertion : Molarity of a solution does not depend upon

temperature whereas molality depends. 

Reason : Molarity and molality both depend only on the number of

moles of solute particles.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

https://dl.doubtnut.com/l/_XqSavmv0O8WU
https://dl.doubtnut.com/l/_m9cUrWY6qcWX


Answer: D

Watch Video Solution

99. Assertion : Both 106g sodium carbonate and 12g carbon contain

same number of carbon atoms 

Reason : Both contain 1 gram atom carbon which contains 

carbon atoms

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

6 × 1023

https://dl.doubtnut.com/l/_m9cUrWY6qcWX
https://dl.doubtnut.com/l/_UI803Qw0w4JS


Answer: A

Watch Video Solution

100. Assertion : Equal moles of different substances contain same

number of constituent particles 

Reason : Equal weights of different substances contain the same

number of constituent particles

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

https://dl.doubtnut.com/l/_UI803Qw0w4JS
https://dl.doubtnut.com/l/_iQrcLUhH3PvG


Answer: C

Watch Video Solution

101. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

Assertion : Volume of a gas is directly proportional to the number

of moles of gas.

Reason : The ratio by volume of gaseous reactants and products is

in agreement with their mole ratio.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

https://dl.doubtnut.com/l/_iQrcLUhH3PvG
https://dl.doubtnut.com/l/_FEWipYVEcjps


C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: A

Watch Video Solution

102. Assertion : One mole of  contain the same number of

molecules present in one mole of  


Reason : Molecular mass of  is twice that of 

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

C. If (A) is correct, but ( R) is incorrect.

SO2

O2

SO2 O2

https://dl.doubtnut.com/l/_FEWipYVEcjps
https://dl.doubtnut.com/l/_PVtQpJw2kKfm


D. If both (A) and (R ) are incorrect.

Answer: B

Watch Video Solution

103. In each of the following question, an Assertion (A) is following

by a corresponding Reason (R ). Use the following keys to choose

the appropriate answer. 

Assertion : Average atomic mass of chlorine is  amu. 

Reason : Chlorine has two isotopes  and  and their

relative abundance is 3:1.

A. If both (A) and ( R ) are correct and ( R ) is the correct

explanation of (A).

B. If both (A) and (R ) are correct, but ( R ) is not the correct

explanation of (A).

35.5

Cl − 35 Cl − 37

https://dl.doubtnut.com/l/_PVtQpJw2kKfm
https://dl.doubtnut.com/l/_qFhF01zK0NQi


Level Ii Assertion Reason Type Questions

C. If (A) is correct, but ( R) is incorrect.

D. If both (A) and (R ) are incorrect.

Answer: A

Watch Video Solution

1. Assertion : Equal moles of different substances contain same

number of constituent particles 

Reason : Equal weights of different substances contain the same

number of constituent particles

A. If both assertion and reason are correct and reason is the

correct explanation of assertion.

https://dl.doubtnut.com/l/_qFhF01zK0NQi
https://dl.doubtnut.com/l/_aJARxHfLx4w1


B. Both assertion and reason are correct but reason is not the

correct explanation of assertion

C. If assertion is correct and reason is not correct

D. Assertion is wrong and reason is correct

Answer:

Watch Video Solution

2. Assertion : Cinnabar is a chemical compound whereas brass is a

mixture 

Reason : Cinnabar always contain 6.25 times as much mercury as

sulphur by weight. Brass can be made with widely different ratios

of copper and zinc

A. If both assertion and reason are correct and reason is the

correct explanation of assertion.

https://dl.doubtnut.com/l/_aJARxHfLx4w1
https://dl.doubtnut.com/l/_gR5rLSePecB3


B. Both assertion and reason are correct but reason is not the

correct explanation of assertion

C. If assertion is correct and reason is not correct

D. Assertion is wrong and reason is correct

Answer:

Watch Video Solution

3. Assertion : In gaseous reaction, the ratio of volumes of reactants

and products is in agreement with their molar ratio 

Reason : Volume of a gas is inversely proportional to its moles at a

particular temperature and pressure

A. If both assertion and reason are correct and reason is the

correct explanation of assertion.

https://dl.doubtnut.com/l/_gR5rLSePecB3
https://dl.doubtnut.com/l/_QA9sOoc0jG9m


B. Both assertion and reason are correct but reason is not the

correct explanation of assertion

C. If assertion is correct and reason is not correct

D. Assertion is wrong and reason is correct

Answer:

Watch Video Solution

4. Assertion : Both 106g sodium carbonate and 12g carbon contain

same number of carbon atoms 

Reason : Both contain 1 gram atom carbon which contains 

carbon atoms

A. If both assertion and reason are correct and reason is the

correct explanation of assertion.

6 × 1023

https://dl.doubtnut.com/l/_QA9sOoc0jG9m
https://dl.doubtnut.com/l/_i07ib7CbhkWt


B. Both assertion and reason are correct but reason is not the

correct explanation of assertion

C. If assertion is correct and reason is not correct

D. Assertion is wrong and reason is correct

Answer:

Watch Video Solution

5. Assertion : Vapour density of  is half that of  


Reason : 1.6 g  contains same number of electron as in 3.2 g of

A. If both assertion and reason are correct and reason is the

correct explanation of assertion.

CH4 O2

CH4

O2

https://dl.doubtnut.com/l/_i07ib7CbhkWt
https://dl.doubtnut.com/l/_ABFlDHZ19kts


B. Both assertion and reason are correct but reason is not the

correct explanation of assertion

C. If assertion is correct and reason is not correct

D. Assertion is wrong and reason is correct

Answer:

Watch Video Solution

6. Assertion : Equivalent weight of an element is not always same 

Reason : Element may have variable valency

A. If both assertion and reason are correct and reason is the

correct explanation of assertion.

B. Both assertion and reason are correct but reason is not the

correct explanation of assertion

https://dl.doubtnut.com/l/_ABFlDHZ19kts
https://dl.doubtnut.com/l/_6TXskDyNVYLH


C. If assertion is correct and reason is not correct

D. Assertion is wrong and reason is correct

Answer:

Watch Video Solution

7. Assertion : One mole of  contain the same number of

molecules present in one mole of  


Reason : Molecular mass of  is twice that of 

A. If both assertion and reason are correct and reason is the

correct explanation of assertion.

B. Both assertion and reason are correct but reason is not the

correct explanation of assertion

C. If assertion is correct and reason is not correct

SO2

O2

SO2 O2

https://dl.doubtnut.com/l/_6TXskDyNVYLH
https://dl.doubtnut.com/l/_mydNcL2fQFc7


Questions

D. Assertion is wrong and reason is correct

Answer:

Watch Video Solution

1. How many significant figures are there in the following number? 

Watch Video Solution

24

2. How many significant figures are there in the following number? 

Watch Video Solution

205

https://dl.doubtnut.com/l/_mydNcL2fQFc7
https://dl.doubtnut.com/l/_wqyjpwOb8ZZA
https://dl.doubtnut.com/l/_Pmy4gky8YgKM


3. How many significant figures are there in the following number? 

Watch Video Solution

1.026

4. How many significant figures are there in the following number? 

Watch Video Solution

0.0020

5. How many significant figures are there in the following number? 

Watch Video Solution

1.00 × 104

https://dl.doubtnut.com/l/_EJWKMIq6aHJu
https://dl.doubtnut.com/l/_Zm69ifGVpC8p
https://dl.doubtnut.com/l/_N1FuLaoTcR2H


6. How many significant figures are there in the following number? 

Watch Video Solution

π

7. Calculate to the proper number of significant digits,

.

Watch Video Solution

4.5 × 104m + 3.00 × 105mm

8. Add the following quantities to the proper number of significant

digits. 

Watch Video Solution

58.0 + 0.0038 + 0.00001

https://dl.doubtnut.com/l/_0A7eicEAW1OJ
https://dl.doubtnut.com/l/_OziwEDEV9yGY
https://dl.doubtnut.com/l/_jcS0sli3UCjA


9. Add the following quantities to the proper number of significant

digits. 

Watch Video Solution

4.20 + 1.6523 + 0.015

10. Add the following quantities to the proper number of

significant digits. 

Watch Video Solution

415.5 + 3.64 + 0.238

11. Find the number of significant digits: 

Watch Video Solution

14.90 × 0.0070 ÷ 0.091

https://dl.doubtnut.com/l/_SX4Jh3rFM2U0
https://dl.doubtnut.com/l/_nfibFgywHao7
https://dl.doubtnut.com/l/_jBfzLsdj5sfP


12. Find the sum to the correct number of significant digits: 

Watch Video Solution

14.90 + 0.0060 + 1.0 + 0.091

13. Find the difference to the correct number of significant digits: 

Watch Video Solution

10.022 − 0.03

14. How many millimeters are there in ?

Watch Video Solution

25.0cm

15. Convert  to kilograms per litre.

Watch Video Solution

12.5gcm− 3

https://dl.doubtnut.com/l/_veo36brdhMQu
https://dl.doubtnut.com/l/_MUZxZA8l7Dt4
https://dl.doubtnut.com/l/_Vz7EBjHBAGTc
https://dl.doubtnut.com/l/_l7XMyuBzQ5q7


16. Find out the volume of 40 kg of a substance whose density is

.

Watch Video Solution

1.60gcm− 3

17. The density of a metal is  Calculate the number of

kilograms per cubic metre.

Watch Video Solution

9.50gcm− 3

18. The density of a solution containing

. What volume of the solution

will contain  of NaCl?

Watch Video Solution

17.0 %  of NaCl  is 1.13cm− 3

35.0g

https://dl.doubtnut.com/l/_l7XMyuBzQ5q7
https://dl.doubtnut.com/l/_xeJhODMqhcsH
https://dl.doubtnut.com/l/_wDYSBFHYKJaK
https://dl.doubtnut.com/l/_9ei2N6zOGvTh


19. 2 g of  on strong heating gave  of CaO and 448 ml

of . Show that the results illustrate the law of conservation of

mass.

Watch Video Solution

CaCO3 1.12g

CO2

20. A simple iron oxide was found to contain  iron. 2 g of

the oxide from another source gave  of iron. Show that the

results illustrate law of definite proportions.

Watch Video Solution

72.17 %

1.44g

21. Nitrogen and oxygen from two compounds. The nitrogen

content of one of these is  and the other is . Show

that the data is in agreement with the law of multiple proportions.

Watch Video Solution

30.43 % 46.53 %

https://dl.doubtnut.com/l/_vdkQ4y6M8gTB
https://dl.doubtnut.com/l/_zuibCTJmEaV5
https://dl.doubtnut.com/l/_7SOyyn6hafZW


22. Sulphur combines with hydrogen and oxygen to give

 respectively. In what ratio will  and  combine

to from ?

Watch Video Solution

H2Sand SO2 H2 O2

H2O

23. What is the ratio of reactants and products when nitrogen

combines with oxygen to from ?

Watch Video Solution

N2O5

24. reacts with 873 mL of  to from 582.4 mL of 

 at STP. Find out whether the results are in accordance with

Gay Lussac's law?

Watch Video Solution

291.2ml  of N2 H2

NH3

https://dl.doubtnut.com/l/_7SOyyn6hafZW
https://dl.doubtnut.com/l/_H3rNFkbapNGy
https://dl.doubtnut.com/l/_87a1TdpUl0dX
https://dl.doubtnut.com/l/_byI6U0nMVBoe


25. Chlorine is a mixture of two isotopes with atomic masses 35u

and 37u which are present in the ratio of 3:1. Find out the average

atomic mass.

Watch Video Solution

26. Naturally occuring boron has two isotopes of masses 10 amu

and 11 amu. Calculate the percentage of each isotope if the average

atomic mass of boron is .

Watch Video Solution

10.2

27. Nitrogen forms NO and . Show that equivalent mass is not

a fixed quantity and that it varies from reaction to reaction.

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_byI6U0nMVBoe
https://dl.doubtnut.com/l/_rtQIOjSSxUUc
https://dl.doubtnut.com/l/_C7j8vNj3pW2r
https://dl.doubtnut.com/l/_iR4Gcs3pmrPs


28. What is the equivalent mass of water?

Watch Video Solution

29. Find the number of moles in  atoms of silver.

Watch Video Solution

1.445 × 1024

30. Find the number of moles in  of copper.

Watch Video Solution

127.0g

31. Find the number of moles in  of water.

Watch Video Solution

45g

https://dl.doubtnut.com/l/_iR4Gcs3pmrPs
https://dl.doubtnut.com/l/_d2OPoF2FVLiT
https://dl.doubtnut.com/l/_wKj2l8Bwy0eD
https://dl.doubtnut.com/l/_I8t2HrRobwoJ
https://dl.doubtnut.com/l/_TxDgCUGGZFSn


32. Find the number of moles in  of  at STP.

Watch Video Solution

7.8L N2

33. Calculate the percentage of  in 

Watch Video Solution

Cu CuO

34. Calculate the mass % of oxygen in 

Watch Video Solution

Fe3O4

35. An organic compound contains  carbon,  hydrogen

and  oxygen by mass. What is the molecular formula of the

compound if its molecular mass is 180?

Watch Video Solution

40 % 6.67 %

53.33 %

https://dl.doubtnut.com/l/_zmHxdU6SZWeB
https://dl.doubtnut.com/l/_ASRMejRacE6S
https://dl.doubtnut.com/l/_XCC4mDKu6eiU
https://dl.doubtnut.com/l/_WDlou14gmBIS


Watch Video Solution

36. Calculate the mass of  formed from  of  on

strong heating (mol.mass of ).

Watch Video Solution

CaO 25g CaCO3

CaCO3 = 100  and CaO = 56

37. Calculate the volume of  evolved at STP when 10g of 

 is treated with mineral acid.

Watch Video Solution

CO2

CaCO3

38. What is the volume of  produced by the decomposition of 5L

of  at STP?

Watch Video Solution

H2

NH3

https://dl.doubtnut.com/l/_WDlou14gmBIS
https://dl.doubtnut.com/l/_vP0ygc4kmGpJ
https://dl.doubtnut.com/l/_V83VlUUyoPTk
https://dl.doubtnut.com/l/_9jOPGqmqW5Na
https://dl.doubtnut.com/l/_NRlyekFaZGmx


39. Find out the limiting reagent when 5g of  reacts with 24g of 

 to form water.

Watch Video Solution

H2

O2

40. Construct an ionic equation for the neutralisation of 

and KOH.

Watch Video Solution

HNO3

41. Calculate the mass percent of a solution containing  of 

 in  of water.

Watch Video Solution

2.5g

KCl 50g

https://dl.doubtnut.com/l/_NRlyekFaZGmx
https://dl.doubtnut.com/l/_3jTTdcJX8DIJ
https://dl.doubtnut.com/l/_9R6BBOu0hEPE


42. Calculate the molarity of a solution containing  of 

per litre (molar mass of = 56).

Watch Video Solution

2.8g KOH

KOH

43.  of  is mixed with 100mL of .

What is the molarity of the resulting solution?

Watch Video Solution

250mL 0.2MH2SO4 0.5MH2SO4

44. What is the final molarity of a solution of  in 250mL

water when mixed with 250mL of ?

Watch Video Solution

9.8gH2SO4

0.1MH2SO4

https://dl.doubtnut.com/l/_KBXNy5XR4i29
https://dl.doubtnut.com/l/_IYloaeOkGMwb
https://dl.doubtnut.com/l/_iOGCjw8wPgXN


45. How much water should be added to  to get   

?

Watch Video Solution

3MHCl 1L 0.25M

HCl

46. Calculate the molarity of 10% by mass  in water solution

(molecular mass of ).

Watch Video Solution

KCl

KCl = 74.5gmol− 1

47. The density of  acetic acid in water is .

Calculate the molality of the solution.

Watch Video Solution

2.5M 1.02gml− 1

https://dl.doubtnut.com/l/_Uvjm0HYdNn3e
https://dl.doubtnut.com/l/_MlUhQsinAI3g
https://dl.doubtnut.com/l/_czBDi6OAgI22


48. What is the normality of a solution of  mol of NaOH

dissolved in 250 mL water?

Watch Video Solution

0.285

49. 50 mL acid is titrated against  base. It took  of

base to reach end-point. What is the normality of the acid ?

Watch Video Solution

0.25N 22.3mL

50. What is the mole fraction of the solute in a 1m aqueous

solution?

Watch Video Solution

https://dl.doubtnut.com/l/_aM4Zq7AIBwGQ
https://dl.doubtnut.com/l/_7FVRJq7uiiDf
https://dl.doubtnut.com/l/_IqU3BR350125


51. What is the mole fraction of  in solution if  moles of 

 is dissolved in  moles of benzene?

Watch Video Solution

CCl4 2.3

CCl4 5.7

52. What is the concentration in ppm, of a solution containing

50mg of Hg per litre?

Watch Video Solution

53. What is the degree of hardness of a water sample containing

 of ?

Watch Video Solution

5 × 10− 3g/L CaCO3

54. Find the % labelling of 100g oleum sample containing  10g SO3

https://dl.doubtnut.com/l/_5aFRKXf1ivMa
https://dl.doubtnut.com/l/_581TRcUUHcJy
https://dl.doubtnut.com/l/_ErVkS1k7bFrW
https://dl.doubtnut.com/l/_DmsI5G3hoKwf


Watch Video Solution

55. What is the  of '20V' ?

Watch Video Solution

% (w/v) H2O2

56. What is the concentration of  solution of  in terms

of volume ?

Watch Video Solution

1.5N H2O2

57. Calculate the pH value of the following solution: 

A solution containing  of nitric acid in 500mL of solution.

Watch Video Solution

0.315g

https://dl.doubtnut.com/l/_DmsI5G3hoKwf
https://dl.doubtnut.com/l/_nRP1u6cOZgFg
https://dl.doubtnut.com/l/_3QVA6z8ctpYE
https://dl.doubtnut.com/l/_p6zuQrkr7cFN
https://dl.doubtnut.com/l/_m667YkIdWqmV


58. Calculate the pH value of the following solution: 

.

Watch Video Solution

0.0001MNaOH

59. Convert pH value of  into  value.

Watch Video Solution

3.6 [H + ]

60. Convert pH value of  into  value.

Watch Video Solution

3.6 [H + ]

61. Convert pH value of  into  value.

Watch Video Solution

3.6 [H + ]

https://dl.doubtnut.com/l/_m667YkIdWqmV
https://dl.doubtnut.com/l/_IGChs9LsJ8kb
https://dl.doubtnut.com/l/_xejWnhF90Lf5
https://dl.doubtnut.com/l/_Cz0JcoGCEM2d
https://dl.doubtnut.com/l/_MLX7ka3H30oZ


62. Convert pH value of  into  value.

Watch Video Solution

3.6 [H + ]

63. Convert pH value of  into  value.

Watch Video Solution

3.6 [H + ]

64.  of a substance displaced  of air at 300 K and 749

mm pressure. Calculate the molecular mass of the substance.

(Aqueous Tension at 300 K is )

Watch Video Solution

0.2g 65.2mL

26.7mm

65.  of silver salt of a dibasic organic acid left a residue of 

of silver on ignition. Calculate the molecular mass of the acid.

0.5g 0.27

https://dl.doubtnut.com/l/_MLX7ka3H30oZ
https://dl.doubtnut.com/l/_72lnflo3YH8p
https://dl.doubtnut.com/l/_Cnpbm60wQqiw
https://dl.doubtnut.com/l/_tzrZEldt6jIC


Level I

Watch Video Solution

66.  of the chloroplatinate of a diacid base when ignited left 

 of Pt. Calculate the molecular mass of the base. (Atomic mass

of Pt is 195)

Watch Video Solution

1.9g

0.75g

67. A mixture of 40 litres of ethane and ethene at 1 atm pressure

and 400k reacts completely with  to form  and 

. Assuming ideal behaviour, calculate the mole fraction of

ethane and ethene.

Watch Video Solution

130g  of O2 CO2

H2O

https://dl.doubtnut.com/l/_tzrZEldt6jIC
https://dl.doubtnut.com/l/_IdoZ4m46SUxR
https://dl.doubtnut.com/l/_oeLMAAtdojga
https://dl.doubtnut.com/l/_jqbN2VYh96a3


1. Which of the following is a characteristic of both mixtures and

compounds?

A. Their properties are same as those of their constituents

B. Energy is absorbed when they are formed

C. Their mass equals to the sum of the masses of their

components

D. They contain components in fixed proportions

Answer: C

Watch Video Solution

2. A mixture of sand and iodine can be separated by

A. Crystallisation

https://dl.doubtnut.com/l/_jqbN2VYh96a3
https://dl.doubtnut.com/l/_UI9gYVVjp1k4


B. Sublimation

C. Distillation

D. Fractionation

Answer: B

Watch Video Solution

3. The largest number of molecules is in

A. 54 g of nitrogen dioxide

B. 28 g of carbon dioxide

C. 36 g of water

D. 46 g of ethyl alcohol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UI9gYVVjp1k4
https://dl.doubtnut.com/l/_xfHsJ8Bc9INv


Watch Video Solution

4. Five grams of each of the following gases at  and 750mm

pressure are taken. Which of them will have the least volume?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

87∘C

HF

HCl

HBr

HI

5. The number of moles of  litre of hydrogen gas at

STP(273k,1atm) (assuming ideal gas behaviour)is

H2  in 0.224

https://dl.doubtnut.com/l/_xfHsJ8Bc9INv
https://dl.doubtnut.com/l/_9CcpRPVYd23R
https://dl.doubtnut.com/l/_ScCowydp2elw


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

0.1

0.01

0.001

6. 7.5 grams of a gas occupy 5.6 litre of volumes at STP. The gas is

A. 

B. 

C. 

D. 

NO

N2O

CO

CO2

https://dl.doubtnut.com/l/_ScCowydp2elw
https://dl.doubtnut.com/l/_Oc36i1ux3K6N


Answer: A

Watch Video Solution

7. Which of the following has the largest number of atoms?

A.  g atom of Cu

B.  of Cu

C.  moles of Cu atom

D. 1 g of Cu

Answer: A

Watch Video Solution

0.5

0.635g

0.25

https://dl.doubtnut.com/l/_Oc36i1ux3K6N
https://dl.doubtnut.com/l/_HDa78fSoCoF7


8. An english word,written in carbon pencil weighs 1mg. What is the

number of carbon atoms present in the word?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.502 × 1020

6.02 × 1020

5.02 × 1020

5.02 × 1023

9. The number of atoms of oxygen present in 10.6 g of  is

A. 

B. 

Na2CO3

6.02 × 1022

12.04 × 1022

https://dl.doubtnut.com/l/_blL0DAGaHpha
https://dl.doubtnut.com/l/_81VsvxNtZDSb


C. 

D. 

Answer: C

Watch Video Solution

1.806 × 1023

31.80 × 1028

10. The specific heat of a metal is . Its approximate atomic

weight would be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.16

32

16

40

64

https://dl.doubtnut.com/l/_81VsvxNtZDSb
https://dl.doubtnut.com/l/_z01rdRYNxokS


11. Law of multiple proportion is illustrated by one of the following

pairs.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2S  and SO2

NH3  and NO2

Na2S  and Na2O

N2O  and NO

12. Given that the oxidation state of sulphur is , calculate the

gram equivalent wt.of sulphur.

A. 

−2

16

https://dl.doubtnut.com/l/_z01rdRYNxokS
https://dl.doubtnut.com/l/_pPizdBBvVOrv
https://dl.doubtnut.com/l/_sJ7TQqhIelTc


B. 

C. 

D. 

Answer: A

Watch Video Solution

8

32

64

13. How many molecules are present in  of glucose 

?

A. 

B. 

C. 

D. 

Answer: B

5.23g

(C6H12O6)

1.65 × 1022

1.75 × 1022

1.75 × 1021

1.65 × 1021

https://dl.doubtnut.com/l/_sJ7TQqhIelTc
https://dl.doubtnut.com/l/_YKgyeVxfxVqL


Watch Video Solution

14. Which one of the following is the lightest?

A.  mole of hydrogen gas

B.  molecules of nitrogen

C.  of silver

D.  mole of oxygen gas

Answer: C

Watch Video Solution

0.2

6.02 × 1022

0.1g

0.1

15. Which of the following substance contains greatest mass of

chlorine?

A. 5.0gCl2

https://dl.doubtnut.com/l/_YKgyeVxfxVqL
https://dl.doubtnut.com/l/_bN6onYZ69Gmx
https://dl.doubtnut.com/l/_BfURiktJVxQV


B. 

C. 

D. 5 g 

Answer: B

Watch Video Solution

0.5molCl2

0.10molKCl

HCl

16. Mass of one atom of X is . Hence number of mole

of atom X in 40kg is

A.  mol

B.  mol

C. 

D. 

Answer: A

6.66 × 10− 23g

103

10− 3

mol
40 × 103

6.66 × 10− 23

mol
40 × 103

6.022 × 1023

https://dl.doubtnut.com/l/_BfURiktJVxQV
https://dl.doubtnut.com/l/_HK5k1hrbpT6d


Watch Video Solution

17. In a gas S and O are 50% by mass, hence,their mol ratio is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 1

1: 2

2: 1

3: 1

18. The density of  vapour in  at STP will be

A. 

CCl4 g/L

3.425

https://dl.doubtnut.com/l/_HK5k1hrbpT6d
https://dl.doubtnut.com/l/_caRxkiJonIo2
https://dl.doubtnut.com/l/_EQADJN7TqUJT


B. 

C. 

D. 

Answer: B

Watch Video Solution

6.875

10.252

4.575

19. The number of electrons present in  litre of  gas at S.T.P is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5.6 H2

6.02 × 1023

3.01 × 1023

12.04 × 1023

3.0 × 1010

https://dl.doubtnut.com/l/_EQADJN7TqUJT
https://dl.doubtnut.com/l/_9oa8mJKErRwD


Watch Video Solution

20.  of  contains

A. 10 moles of 

B.  atom of C

C.  atoms of Ca

D.  of equivalent of Ca.

Answer: B

Watch Video Solution

10g CaCO3

CaCO3

0.1g

6 × 1023

0.1

21. The vapour density of a chloride of an element is . The

equivalent mass of the element is . The atomic weight of the

element is

39.5

3.82

https://dl.doubtnut.com/l/_9oa8mJKErRwD
https://dl.doubtnut.com/l/_GSHzmN25yPso
https://dl.doubtnut.com/l/_6cKR2BZ4UNzK


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

15.28

7.64

3.82

11.46

22. In an experiment,  was produced and 

remained unreacted. How many g atoms of Al and  were taken

orginally (Al= 27, Cl = 35.5)?

A. 

B. 

C. 

6.67g  of AlCl3 0.54gAl

Cl2

0.07, 0.15

0.07, 0.05

0.02, 0.05

https://dl.doubtnut.com/l/_6cKR2BZ4UNzK
https://dl.doubtnut.com/l/_5V0QnR96HXUK


D. 

Answer: A

Watch Video Solution

0.02, 0.15

23. A certain compound has the molecular formula . If 10g of 

 has  g , the atomic mass of X is

A. 32 amu

B. 37 amu

C. 42 amu

D. 98 amu

Answer: A

Watch Video Solution

X4O6

X4O6 5.72 X

https://dl.doubtnut.com/l/_5V0QnR96HXUK
https://dl.doubtnut.com/l/_GrKbJlIjPQGm
https://dl.doubtnut.com/l/_LcJwg9pv8wRf


24. The simplest formula of a compound containing 50 % of

element X (atomic mass 10 ) and 50 % of element Y (atomic mass

20 ) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XY

X2Y

XY2

X2Y3

25. The molality of  solution is equal to 9. The weight

of the solvent present in the solution is 910g.The value of 'X' is :

X % H2SO4

90, 80.3, 40.13, 9

https://dl.doubtnut.com/l/_LcJwg9pv8wRf
https://dl.doubtnut.com/l/_oCvopODMmk7E


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

90

80.3

40.13

9

26. Consider the following reaction ,  


Molecular weight of  and  are  respectively.

Their equivalent weights are  respectively. Then 

 is

A. 

B. 

N2 + 3H2 → 2NH3

NH3 N2 x1  and x2

y1  and y2

(y1 − y2)

( )
2x1 − x2

6

(x1 − x2)

https://dl.doubtnut.com/l/_oCvopODMmk7E
https://dl.doubtnut.com/l/_5TwkUW7gFfPL


C. 

D. 

Answer: A

Watch Video Solution

(3x1 − x2)

(x1 − 3x2)

27. How many moles of electrons weigh one kilogram?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

6.02 × 1023

× 10311

9.108

× 10546.02

9.108

× 1081

9.108 × 6.02

https://dl.doubtnut.com/l/_5TwkUW7gFfPL
https://dl.doubtnut.com/l/_oWgH4v7t8mV2


28.  has density equal to . The molarity (M)

and molality (m) respectively, are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

36.5 % HCl 1.20gmL− 1

15.7, 15.7

12, 12

15.7, 12

12, 15.7

29. Dissolving 120 g of urea (mol wt . 60) in 1000 g of water gave a

solution of densit 1.15 g/mL. The molarity of the solution is

A. 1.78M

https://dl.doubtnut.com/l/_TpLOYhHduZiC
https://dl.doubtnut.com/l/_RCijhno21zjF


B. 

C. 

D. 

Answer: C

Watch Video Solution

2.00M

2.05M

2.22M

30. If air contains  by volume, the number of atoms of

nitrogen per litre of air at STP is.

A. 

B. 

C. 

D. 

Answer: B

71 % N2

3.8 × 1023

0.38 × 1023

38 × 1023

0.38 × 1021

https://dl.doubtnut.com/l/_RCijhno21zjF
https://dl.doubtnut.com/l/_4qcyVRtCmvZM


Watch Video Solution

31.  of an element when treated with excess of acid produce

1900ml of  gas STP. The equivalent mass of metal is?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

8.6g

H2

48.69

58.69

50.69

56.69

32. Molarity of  pure  at  is

A. 

560g H2O 4∘C

40

https://dl.doubtnut.com/l/_4qcyVRtCmvZM
https://dl.doubtnut.com/l/_DpFWuRf7a0nA
https://dl.doubtnut.com/l/_xk9fzbYWUgAb


B. 

C. 

D. 

Answer: C

Watch Video Solution

4

55.5

44.6

33. The mass of 60% HCI required for the netralisation of 10L of

 is

A. 

B. 

C. 

D. 

Answer: A

0.1MKOH

60.8g

21.9g

100g

219g

https://dl.doubtnut.com/l/_xk9fzbYWUgAb
https://dl.doubtnut.com/l/_SNXVqVRsVCqI


Watch Video Solution

34. Cortisone is a molecular substance containing 21 atoms of

carbon per molecule. The mass percentage of carbon in cortisone

is . It's molar mass is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

69.98 %

176.5gmol− 1

252.2gmol− 1

287.6gmol− 1

360.1gmol− 1

https://dl.doubtnut.com/l/_SNXVqVRsVCqI
https://dl.doubtnut.com/l/_WVY9AOPH57hD


35. A sample of ammonium phosphate  contains 

moles of H atoms. The number of moles of O atoms in the sample

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(NH3)4PO4 3.18

0.265

0.795

1.06

3.18

36. Consider the following laws of chemical combination with

examples: 

I) Law of multiple proportion,  
N2O, NO, NO2

https://dl.doubtnut.com/l/_65TXNhLxH9Oa
https://dl.doubtnut.com/l/_rleOp3QlexgF


II) Law of reciprocal proportion,  


Which is correct with examples?

A. I and II

B. I only

C. II only

D. I and II are incorrect

Answer: A

Watch Video Solution

H2O, SO2, H2S

37. , 1g acetic acid  and 1g

of formaldehyde  will have H-atoms in the ratio.

A. 

B. 

1g  urea (NH2CONH2) (CH3COOH)

(HCHO)

2: 2: 1

1: 1: 2

https://dl.doubtnut.com/l/_rleOp3QlexgF
https://dl.doubtnut.com/l/_OzCxEJa2ciZf


C. 

D. 

Answer: C

Watch Video Solution

1: 1: 1

1: 2: 1

38. The molarity of a solution obtained by mixing 750mL of

 with 250 mL of  will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0.5MHCl 2MHCl

1.00

1.75

0.975

0.875

https://dl.doubtnut.com/l/_OzCxEJa2ciZf
https://dl.doubtnut.com/l/_rC7eXOuZAyxB


39.  solution (specific gravity ) is

equivalent to :  p pm,  p pm,  p pm, 

 p pm

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

40 % W/VNaCl = 1.12

3.57 × 105 3.57 × 106 1.106

4 × 103

3.57 × 105p ±

3.57 × 106p ±

1.106p ±

4 × 103p ±

40. In compound A,  nitrogen combines with  of Oxygen.

In compound B  nitrogen units with  Oxygen and in

1.0g 0.57g

2.0g 2.24g

https://dl.doubtnut.com/l/_rC7eXOuZAyxB
https://dl.doubtnut.com/l/_8cdzrOTsnDoE
https://dl.doubtnut.com/l/_HDtfDY6HCHne


compound C.  of nitrogen combine with  oxygen. These

results obey the law of

A. multiple proportions

B. constant proportions

C. reciprocal properties

D. law of conservation of mass

Answer: A

Watch Video Solution

3.0g 5.11g

41. Which one of the phrases would be incorrect to use?

A. One mole of an element

B. one mole of a compound

C. An atom of an element

https://dl.doubtnut.com/l/_HDtfDY6HCHne
https://dl.doubtnut.com/l/_FAcKIHWdb9xR


D. An atom of a compound

Answer: D

Watch Video Solution

42. Which one of the best example of law of conservation of mass?

A. 6 g of carbon is heated in vacuum, there is no change in

mass.

B. 6 g of carbon combines with 16 g of oxygen to from 22 g of

C. 6 g water is completely converted into steam.

D. A sample of air is heated at constant pressure when its

volume increases but there is no change in mass.

CO2

https://dl.doubtnut.com/l/_FAcKIHWdb9xR
https://dl.doubtnut.com/l/_XQlSrjKk5HuN


Answer: B

Watch Video Solution

43. Number of atoms present in 4.25g of 'NH_3' is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6.02 × 1023

4 × 6.02 × 1023

1.7 × 1024

4.5 × 6.02 × 1023

https://dl.doubtnut.com/l/_XQlSrjKk5HuN
https://dl.doubtnut.com/l/_ZyrW4HMgS9LR


44. 3g of a hydrocarbon on combustion in excess of oxygen

produces  of . The data illustrates

the law of :

A. conservation of mass

B. multiple proporations

C. constant proportions

D. reciprocal proportions

Answer: A

Watch Video Solution

8.8g  of CO2  and 5.4g H2O

45. A metal oxide is reduced by heating it in a stream of hydrogen.

It is found that after complete reduction,  of the oxide have

yeilded  of the metal. We may conclude that:

3.15g

1.05g

https://dl.doubtnut.com/l/_BV2eREBusJmN
https://dl.doubtnut.com/l/_Y4hLL7o4hcEd


A. atomic mass of the metal is 4

B. atomic mass of the metal is 8

C. equivalent mass of the metal is 4

D. equivalent mass of the metal is 8

Answer: C

Watch Video Solution

46. The volume occupied by one molecule of water (density = 1

)

A. 

B. 

C. 

D. 

gcm− 3

3 × 10− 23cm3

5.5 × 10− 23cm3

9 × 10− 23cm3

6.02 × 10− 23cm3

https://dl.doubtnut.com/l/_Y4hLL7o4hcEd
https://dl.doubtnut.com/l/_zG15MyvWOidZ


Answer: A

Watch Video Solution

47. Common salt obtained from sea-water contains  by

mass. The approximate number of formula units present in  salt

is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

95 % NaCl

10g

1021

1022

1023

1024

https://dl.doubtnut.com/l/_zG15MyvWOidZ
https://dl.doubtnut.com/l/_abahGy2juYbh
https://dl.doubtnut.com/l/_bRhGxJCsyCjP


48. The volume of  evolved at STP when  of Al(molar mass : 

) is dissolved in excess of dilute  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2 0.9g

27gmol− 1 H2SO4

0.58L

1.12L

2.40L

2.9L

49. The mass of  required to prepare 150 mL of  of a

solution based on the reaction

 is

A. 

NaBrO3 0.75N

BrO−
3 + 6H + + 6e− → Br− + 3H2O

1.42g

https://dl.doubtnut.com/l/_bRhGxJCsyCjP
https://dl.doubtnut.com/l/_gPtldq2nPRMU


B. 

C. 

D. 

Answer: B

Watch Video Solution

2.83g

3.85g

4.25g

50. The expression converting mole fraction of a solute into

molarity of solution is

A. 

B. 

C. 

D. 

Answer: C

M =
x2M2

(x1M1 + x2M2)

M =
(x1M1 + x2M2)

x2M2

M =
1000px2

(x1M1 + x2M2)

M =
1000px1

(x1M1 + x2M2)

https://dl.doubtnut.com/l/_gPtldq2nPRMU
https://dl.doubtnut.com/l/_xu6806k5CDFZ


Watch Video Solution

51.  atoms of an element weigh 200g. If this element form

homodiatomic gas, then calculate the molar mass of gas.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6 × 1024

40gmol− 1

30gmol− 1

50gmol− 1

60gmol− 1

52. The vapour density of a mixture containing  is

38.3 at . Calculate the mole of  in 100mole of mixture

NO2 and N2O4

27∘C NO2

https://dl.doubtnut.com/l/_xu6806k5CDFZ
https://dl.doubtnut.com/l/_ag6xpRKi8c2W
https://dl.doubtnut.com/l/_JMSMDWGS4smp


A.  mole

B.  mole

C.  mole

D.  mole

Answer: D

Watch Video Solution

76.6

3.348

334.8

33.48

53. What is the empirical formula of vanadium oxide, if  of the

metal oxide contains  of metal ? (Atomic mass of

vanadium=52 u)

A. 

B. 

C. 

2.74g

1.53g

V2O3

VO

V2O5

https://dl.doubtnut.com/l/_JMSMDWGS4smp
https://dl.doubtnut.com/l/_4qU42RsF53sJ


D. 

Answer: C

Watch Video Solution

V2O3

54.  gram of titanium (At. wt. = 48) reacted with excess of 

and produce 'x' gram of non-stoichiometric comound . The

value of 'x' is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1.44 O2

Ti1.44O

2

1.77

1.44

2.35

https://dl.doubtnut.com/l/_4qU42RsF53sJ
https://dl.doubtnut.com/l/_vnC8VH5PizpS


55. What is the molarity of  ions in aqueous solution that

contains 34.2 ppm of ? (Assume complete dissociation

and density of solution 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SO
2 −
4

Al2(SO4)3

1g/mL)

3 × 10− 4M

2 × 10− 4M

10− 4M

2 × 10− 5M

https://dl.doubtnut.com/l/_vnC8VH5PizpS
https://dl.doubtnut.com/l/_7fQmQjcsNmUk

